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3/18/2021
A carrier signal C(t)=25 sin(2.512 x 10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 ¥ 10°) and transmitted through an antenna. What will be the bandwidth

of the modulated signal ?

Options :
86435111881, 20 MHz

86435111882, 8 GHz

86435111883, 2-01 GHz

86435111884, 1987.5 MHz

Question Number : 1 Question Id : 8643513961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m(t) =5 sin(1.57 x 108t) 28 «=% a4 Hewwrea =@ C(t) =25 sin(2.512 x 1010t) 2T T
R et A 2@ SIHCGIA AR ARLFES 341 26| @3 AT (FTCAHT) TAH NG -TACHA
(T2%Y) T FS 203 ?

Options :
86435111881, 20 MHz

86435111882, 8 GHz

86435111883, 2-01 GHz

86435111884, 1987.5 MHz

Question Number : 2 Question Id : 8643513962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two cells of emf 2E and E with internal resistance r; and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
[, ||
K !
SRR
R
Options :
5%
86435111885, =
I
? } I'E
86435111886. ~
86435111887. -
ryt1,
86435111888.

Question Number : 2 Question Id : 8643513962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FRATEH 1, A2 1, AERET (A4 A2 2E @ E R 5% 701 A8 5 ofes (79 «Fh fms @’ R «F

el Foapia aif Faa & F91 TER| R «F @ WE1a & 2209 (0 208 B0 [Aed 20eq =+
209 9 W :
2E E
II ||
! I’
v A"
R
Options :
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pa |t
=
wd

86435111885.

L_}l:-
&
(=]

86435111886.

86435111887.

86435111888.

Question Number : 3 Question Id : 8643513963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms 1 along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

96435111880, Y(x, )=0.03 [ sin 5.1x— (0.2 x 103)t ]

Y(x, t)=0.03 [ sin 5.1x — (1.5 x 10%)t |
86435111890.

s g s e .
86435111801, Y@ §=0.06 [ sin 5.1x— (L5 x10%)t ]

S g
86435111892, Y@ )=0.06 [ sin 0.8x— (0.5 x10°)t ]

Question Number : 3 Question Id : 8643513963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

245 Hz F7N1203a G315 *1 ©a% 300 m s~ ! sfSCacs] 4ge -5 Fa1@a 41| area Afefb 2
% =sl orR 6 T weewieTe =1 8% 5F wars sfifes Saearem A 29

Options :

86435111889, Y(x, )=0.03 [ sin 5.1x— (0.2 x 105t ]

Y(x, )=0.03 [ sin 5.1x — (1.5 % 10%)t |
86435111890.
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28 Gipme e \
86435111891, T =006 [ gin. 5. 1x= 1.5 17K |

R :
86435111802, ¥ & §=0.06 [ sin 0.8x— (0.5 X 10t ]

Question Number : 4 Question Id : 8643513964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘I’ at a height of 11R above
the surface of ‘P, R being the radius of ‘P’. The time period of another satellite in hours at a

height of 2R from the surface of ‘I is . '’ has the time period of 24 hours.
Options :
86435111893, 2

86435111894, 632

86435111895. 3

|J1| c".

86435111896. v

Question Number : 4 Question Id : 8643513964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4% T-T77 Tz, @3 cyEmEl 27 P’ A 9P (AT 11R THOW P 1T AW FACE, @ R 7F
‘P APl ‘P A 4P (ATF 2R THOW AT WK G35 SEd ofmes 9% 2 2
| ‘P 9 *HmeE 24 99 |
Options :
86435111893, 2

86435111894, 632

86435111895. 3

6

_Il.—
86435111896. V<=
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Question Number : 5 Question Id : 8643513965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of
mass m moving with a speed v along the line joining A and B collides with A. The maximum

cnmpression in the sp rf_ng 15

C A B
m E— m | YYYYirL| m
Options :
[m
5K
86435111897. V2
m
v, |—
2K
86435111898.

86435111899, ¥ K

86435111900.

Question Number : 5 Question Id : 8643513965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m S 5 SoR A% GF G T SRS ©rad Tod L Feiad ond «3e K i e e a3t 2
el -3 711 I% T4 AR T W GF 6 m TAANE 7F C, A 32 B &7 ALAFAI (T @A 0
SITSCATsl O A 7% 991S F6d | Refefba e A== T :

e

A

m —>

m

m

Options :
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m

o
86435111897. V2K

86435111898.

86435111899, V K

86435111900.

Question Number : 6 Question Id : 8643513966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring
constants Kl and K2 respectively. If the maximum velocities during oscillations are equal,
the ratio of the amplitude of A and B is
Options :

. K,

Ko
86435111901.

86435111902.

86435111903.

\ Ky

86435111904

Question Number : 6 Question Id : 8643513966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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K, @@ K, e gag RfE qft oz Feie-«a e sedd gt $91 A @d2 B @t §g |
TECea A 3 P giva A feras AW =, O A a2 B ¢ fgeaa weee 2 -

Options :
%
K,
86435111901,
K4
86435111902, ¥ 2
5
Kq
86435111903.
K,
86435111904, i

Question Number : 7 Question Id : 8643513967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II

List - 1 List - 11
.T|'
(a) Phase difference between current and voltage (i) 5 current leads voltage

in a purel}f resistive AC circuit

(b) Phase difference between current and voltage in (i) zero

a pure inductive AC circuit

(c) Phase difference between current and voltage in  (iii) g; current lags voltage

a pure capacitive AC circuit

1{ Xe — X
(d) Phase difference between current and voltage in  (iv) tan ( LR L]

an LCR series circuit
Choose the most appropriate answer from the options given below :

Options :

8/90
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86435111905, @ (b)-(iii), (c)-(iv), (d)-(i)

26435111906, @11, (b)-(iv), (c)-(iii), (d)-(i)
26435111907, @D, (b)-(iid), (c)-(1), (d)-(iv)

26435111908, (@)-(i), (b)-(iii), (c)-(iv), (d)-(1)

Question Number : 7 Question Id : 8643513967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SifeTl - 1 «F AR Siferst - [ TS :

Siferest - 1 wifert - 11

(a) Frwm @y BFEgSh ofead agaa (i) %;mfﬁmaﬂﬁ
2% @ fqerad w0 N

(b) s oM@ @G «Fh dfeadl agaa (i) *[m
2@ @ Teraa W NS

(c) Frum draary R ool oferd 24T (i) %mﬁmﬂmﬁ
#[1% @ fasraa w0 «nefa

(d) <= LCRTa@ 7677 212 '8 Reram v #mfe (iv) tﬂﬂ_](}{CR—XL]

Teirare e fefare wHifis S rge e feoe ==
Options :
26435111905, @) (b)-(id), (c)-(iv), (d)-(ii)
26435111906, @) (1), (B)=(iv), (c)-(it), (d)-(i)

26435111907, @), (b)-(iii), (c)-(1), (d)-(iv)

26435111908, (@)-(i), (b)-(iii), (c)-(iv), (d)-(1)
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Question Number : 8 Question Id : 8643513968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435111909 Inductive reactance will be doubled and current will be halved.

26435111910, Inductive reactance will be halved and current will be doubled.

86435111911 Both, inductive reactance and current will be halved.

86435111912, Doth, inducting reactance and current will be doubled.

Question Number : 8 Question Id : 8643513968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OF0 o EaeE TEAT FONF SWES FACH WAy ffenre (Raehne) «ae qanea F AEaes
34 ?
Options :

86435111909, NCINA 2AfTaTs fmd @3 R WES 2@ ACA|
86435111910, AN TS WES 92 A9 S 2 And |

86435111911, @ SRS ae R 723 WES 2 ACA|

86435111012, [T L EIERIe secle 5§33 a8 20x Al

Question Number : 9 Question Id : 8643513969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A sphere of mass 2 kg and radius 0.5 m is rolling with an initial speed of 1 ms ~! goes up an
inclined plane which makes an angle of 30° with the horizontal plane, without slipping.

How long will the sphere take to return to the starting point A ?

A 30

Options :
86435111913, -0V s

86435111914, 0278

86435111915, 022 S

86435111916, B0 s

Question Number : 9 Question Id : 8643513969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 m s~ ! sfSCaTs 5a9W 2 kg ©F @A2 0.5 m APT% A8 G5 sieEs 7297 30° TR GIi6 w1
TCEE TR = 8 w7 FE S THE ANE | (TESh SR 8 WHhE dee@d A e @ e
T ?

& 30

Options :

86435111913, 060 8

86435111914, 027 S

86435111915, 022 S
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86435111916, B0 s

Question Number : 10 Question Id : 8643513970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
always rising to 100 of the height through which it falls. Find the average speed of the ball.

(Take g=10 ms~?)
Options :

1
86435111917, 20 ms

1
86435111918, 2-20 ms

1
86435111919, -0 ms

1
86435111920, >-20 ms

Question Number : 10 Question Id : 8643513970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(A 5 m U949 (AT PG TELAD 99 (206 (WS TE | s FHEE FAENS AF «92 dfedqa i

. 81 ]
TSI TSR - 1 AT (FS 1| TEDBA 5T Fod T

( =10 ms 2 4%)
Options :

1
86435111917, 20 ms

1
86435111918, 2-20 ms

1
86435111919, -0 ms

1
86435111920, >-20 ms

12/90
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Question Number : 11 Question Id : 8643513971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v =0, + gt + F£2. Its position is x=0 at t=0; then its displacement

after time (t=1) is :

Options :
(e} | % +F
86435111921. 2
1 2 ;
86435111922, Yot 28 +3F
F
I’{} | 5 F—
2" 3
86435111923. =
86435111924, C0 8+ E

Question Number : 11 Question Id : 8643513971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9B T SS9 v=10,+ gt + Ft2; t=0 TS «6q % x =0 2A, (t=1) 7007 ¢6q 779 23 :

Options :

Ty % +F
86435111921. 2

1 ) :

86435111922, Yo t28 13F

F

I’{} | & F—

2 3

86435111923. g %
86435111924, 0 T8 FF

Question Number : 12 Question Id : 8643513972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13/90
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A hairpin like shape as shown in figure is made by bending a long current carrying wire.
What is the magnitude of a magnetic field at point P which lies on the centre of the
semicircle ?

1

.
Ca

.
ﬁ
P
l‘ “
w
]

I
Options :

pol

ZT(Z )
86435111925, <7I

ol

P02 +)
86435111926, 27T

ol

20" (2 4 )
86435111927, 47T

pol

B e 1)
86435111928, =7

Question Number : 12 Question Id : 8643513972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@3l 771 SfEe 2@z e Tars @ 5rea F0™ T (WA 27 5rad | Wdqes @ P e
TeofH COIFF (R W TG 7

Pi{ =1
-,\“-

I
2= m)
86435111925, <7T

1

L™
-

i
.

Options :

ol
Lo 'y TR
86435111926, 27T
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1ol

Po" 2 + x)
86435111927, *7T

pol

i
86435111928, =TT

Question Number : 13 Question Id : 8643513973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?
Options :

86435111929, [aschen series

86435111930, balmer series

86435]1193], Lyman series

86435111932, brackett series

Question Number : 13 Question Id : 8643513973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BRG] AT (A1-3effe SIcaipafer Coffta FwiB | 220G #ee-q<fiferm (@mit -3¢ 20q ?
Options :

86435111929, TS CHA

86435111930, T4 G

86435111931, N2 CAel

86435111932, 0 CeFM

Question Number : 14 Question Id : 8643513974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15/90
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Two identical photocathodes receive the light of frequencies f; and f, respectively. If the

velocities of the photo-electrons coming out are vy and v, respectively, then

Options :

Pa|=

g I’2=[£[.ﬁ fz]}

86435111933, =

2 2 2h
v — 0 = —1f1 —f2]
86435111934, m

7h
™ +02 =|—(f1 +f2)
86435111935. m

2 2
) +15 = —[h +f2]
86435111936. .

Question Number : 14 Question Id : 8643513974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(5 wien SCaAe-ofee FMACE JAGH f; €= f, F=0ET S0 Seifos 2o A Fafae uras-
SrErRgeaerd AfOrasl AN v, 932 v, T A

Options :

86435111933.
2 2h
vy —v3 = —|f1 —fal
86435111934, m
‘“11 I
2N 2
™ +Up = [—i..ﬁ ' ..Jrz.‘l}
86435111935. m
2 2 2h
) +0v3 = —[h +f2]
86435111936. .

Question Number : 15 Question Id : 8643513975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

16/90
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Correct Marks : 4 Wrong Marks : 1

Which one of the fnllnwing will be the output of the given circuit ?

A— [~
L
=

B
Options :

86435111937, AND Gate

86435111938, VAND Gate
86435111939, “OR Gate

86435111940, VOR Gate

Question Number : 15 Question Id : 8643513975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HWE qEAE ALATE 2| B e Mm@t ?

A E::’D
L
—-

B
Options :

86435111937, AND CT5

86435111938, NAND 5
86435111939, XOR (516

86435111940, NOR (96

Question Number : 16 Question Id : 8643513976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

17/90
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The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer
of 15 () resistance is connected across BD. Calculate the current through the galvanometer

when a potential difference of 10 V is maintained across AC.

Options :

86435111941, 244 LA

86435111942, 244 mA

86435111943, 187 pA

86435111944, 187 mA

Question Number : 16 Question Id : 8643513976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@b ZZHOH ATEE HEG A2 (A4 F5rad W | BD #10% 15 () Taea G5 Seren-or 72qe o2
7#| AW AC Avgarda Wy 10 V e orew fwee o ora sueensonad f4ared 19 304

Options :

18/90
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86435111941, 244 wA

86435111942, 244 mA

86435111943, 187 pA

86435111944, 87 mA

Question Number : 17 Question Id : 8643513977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12 cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=0.693 )

Options :
36435111945, 116X 10% kg s~

4 2 ]
86435111946, 000 ¥ 107 kg s

ri 3 1
86435111947, >/ <107~ kg's

2 1
86435111948, >0 <107 ke s

Question Number : 17 Question Id : 8643513977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
43l PReis- a1 T0H A2 YT @I 1 kg S 76 12 T eSS g 372 wnewitere 20| 2 Faferd #ita %
IR [ N 6 TN B @3 ciEsiien S (rfee ) FarEa W %A

(In 2=0.693 &%)
Options :
E o) J.
86435111945, 116> 107 kg s

g 2 1
86435111946, 009 107 kg s

ri 3 1
86435111947, >/ <107~ kg's

19/90
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3.3 % 102 1
86435111948, 0 <107 kg s

Question Number : 18 Question Id : 8643513978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f one mole of the polyatomic gas is having two vibrational modes and J5 is the ratio of molar

] 5 j
specific heats for polyatomic gas (B = L—PW then the value of {3 is :
. LA

Options :

1.25
86435111949.

86435111950.

86435111951.

86435111952.

Question Number : 18 Question Id : 8643513978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

)
=

HIG T @ (TS A8 @il qge@aas S0 W6 Osd SeiTe 3 [[ﬂ = W 7, 4
W 1'\./'

)

& W+ ;
Options :

2
86435111949. 5

86435111950. "~

86435111951, 1-3°

86435111952, 1-02

Question Number : 19 Question Id : 8643513979 Question Type : MCQ Option Shuffling : Yes Is

20/90
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thermodynamic processes ?

A
T +——— adiabatic
P
1sothermal
(a)
—
F
T «——isothermal
\\'I-
adiabatic
(c)
=<

Options :
(a) only
86435111953. -

86435111954, (D) and (c)

86435111955, (©) and (a)

86435111956, () and (d)

Question Number : 19 Question Id : 8643513979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

:

// f isothermal

adiabatic

n—

P

w

T—>

isothe rmal
L PN

/ iija batic

W

T—

21/90
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51 fom wrisom dieFaa JFad s e Fesh e Fa

. F
T «— e T / ¢ Ll
P P
HCTHe
(a) vd )
e s k‘.j 'P'[ e
V—> [—
T F.3 F 3
PR IRERGS
v P \—>

Tz R
(©) N (d) |

T—=> T =
Options :

86435111953, 71 1 (a)

86435111954, (D) €92 ()

86435111955, (&) 9% (@)

86435111956, (¢) % (d)

Question Number : 20 Question Id : 8643513980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An object is located at 2 km beneath the surface of the water. If the fractional compression

AV e
—— is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm 2 and g=9.8 ms ™~ 2]

Options :
22/90
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s "
86435111957, 196107 Nm

86435111958, 1-44>10/ Nm~=

(]

7 6 o9
86435111959, 226> 107 Nm

86435111960, 1.44x10° Nm 2

Question Number : 20 Question Id : 8643513980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.: E 7 " illl.l Srise
TEA #[POA CATT 2 km STOiTa G0 98 A4 HICE| TM A WS AL — -«F T4 1.36% 24,

W
LA THES Ale € ThEve Agied SgATea YW sE |
\" { U - h. In - \ — i Ins 2
e \eEd 9y 1000 kg Elﬂﬁﬂg 0.8 2
Options :
86435111957, 1-96x 107 Nm 2

7 2
86435111958, 1-44x10¥ Nm

(]

7 26 9
86435111959, 2262107 Nm

86435111960, 144 %107 Nm 2

Physics Section B

Section Id : 864351266
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351266
Question Shuffling Allowed : Yes
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Question Number : 21 Question Id : 8643513981 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 uF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 pF. The

charge in C ,on equilibrium condition is _ pC. (Round off to the Nearest Integer)
51 52
2 wF 8 uF
1wov[ Tc, Te,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643513981 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AR @F 6 2 wF 4% C, TF @& 10 V 53 24Ts% 7@ A6 AL T F(E 2o 39 29 | 99377
A faiven F0a (RS S| @I 8 pF qae0ed WHHke 47F C, @9 7 AYS 91 24

SRR C., 4R A e pCl (Srm e )
5.
S .k?:z
2 wF 8 wF
wov] Tc, Tes

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

24/90
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Question Number : 22 Question Id : 8643513982 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)
[Take g =10 ms 2]

W
M

4
E

8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513982 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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foarpina 4 kg St G356 q51% 5 kg S G P ACIA U9 WGCH % GF2 A AN TS GIM6
WG 47a Hrece | A (NI ACH FICHA AHA THAGNF .5 T, TR AFFD WerS 17 A I AT
S 73 U™ IF T NI (&7 = )

[g=10 ms 2 géq)

k4
F

s
i+

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513983 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The image of an object placed in air formed by a convex refracting surface is at a distance of

rd
10 m behind the surface. The image is real and is at 3 of the distance of the object from

the surface. The wavelengﬂ1 of Iight inside the surface is — imes the wavelength in air. The

3

; T :
radius of the curved surface is — m . The value of ‘x" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 23 Question Id : 8643513983 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

93l Tea aAferme W 10 m e AR ce am @S 95 g TET o zA AfeREh 98 ae

4 . e .
Al e e S 2 A TR TR | 3 favn wrem foer A e e M

2 : g
O] .W;@qﬁﬁw-ﬁ RIGIE RUGE Wﬂ‘iﬁ‘ﬂ'ﬂ%ml ‘v’ G T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513984 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the
same distance is
x
V5
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

E. Where the value of x=

Question Number : 24 Question Id : 8643513984 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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3 m AT SATS «Fh 100 W ATed &) SCATE Sarsd Oibe (Had T T E | 3 Aol awie

B 60 W TS TaN 20 &3 21e Sfbe Tad S Ia wen | (= E, @ x @3 I

V5
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513985 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x 102 Hz, has permittivity E=8[]Eﬂ and resistivity

p=0.25 {Im. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10F times the displacement current densit}-' after time t= %s. The value of x is

(Given : S 9 x 10° Nm“C~2)
deg
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643513985 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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f=9 x102 Hz T3 7q7 SCoW OER (SOl 3 @RIF I e =80e, @32 p=0.25 Om| &

AT G TG AT AT e & T @36 A(6ad) 353 T V(1) =V, sin( 2w ft) 02 T 41

. : \ \ \
G T t=msm"1ﬁﬂ?{m‘ﬂﬂtﬁ T gem (fSqerrs) =4 w=eed 10° 391

x ¢ T I

(217 ; =9 x 10° Nm2C™2)

—1-’.'!'8‘.[].
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643513986 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given b}-‘ E = %Eﬂ: [ %E{) ; with Eg =40 x 1[13%. The

flux of this field through a rectangular surface area 0.4 m? parallel to the Y —Z plane is
Nm?2 C L,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643513986 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TS BT b (Fa ARTEE T E = %Eﬂf | %Eﬂ;mﬂﬂ Ey = 4.0 X 1[13% | &% ORI T

Y — Z S(Fa AAmRATd a%e 04 m? UHad fowa Wi dafEe ofee #Fgd 9
Nm? C 1|
Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643513987 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

mass of the quarter disc (the shaded area) is at the position where

3w

ol
w3

g |w

03] =

xis . (Round off to the Nearest Integer)

la is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513987 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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M (A9 €F% FEN TFHIES ©4 TIF [ GF0 JEFE Fhed Badite aF-vedfistm (mefag)

X a X a

WW%ﬁ(——,—'—Witﬂmxﬁﬁ | (ST #jef <)
3w dw) i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513988 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A hnd}-' of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction % It is desired to make the body move by applying the minimum possible force
F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 28 Question Id : 8643513988 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 kg SCA «F5 77 %f?ﬁﬂﬂ‘q@q*ﬁﬁrﬁ@ @ TEhie TA SHEE FA0R (A T 99 A

TEBE AT (IS AT CANHF NI F @7 51 281 | (T <ol W)
[ g=10 ms ~2 4%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513989 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = Uyrd. If

i
Bohr’s quantization conditions are applied, radii of possible orbitals r,, vary with n« , where

o 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513989 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

U(r)=Uy! 21 fiea owta m =3 8 (5 3901 Jarem F0% o Fa0= | @Iaa (@Eros =6

- 1 -,
A% FAF n T FOFT AP 1, no G FAGATS “ARRATGS 27, O@ o &7 T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 30 Question Id : 8643513990 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Supp ose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 cm? of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm” by considering 100 spherical drops of

) 1
3 3 |
radius {TW %10 c¢m. Then the thickness of oleic acid layer will be x x10~14 m,
w LT S

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513990 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4 TS G S SOTea =Y w46l fEfe FA1 T (T 416 em 3w 0.01 om?® €T wmhTE
CPCA SR @@ 9% 739 ey @3 9z-u9q Wfas o s gwe 9 7\ @I

3
o)

X104 m oA, x @7 TH

W=

x 1073 o APICAT 100 B oMo WNCR1 4 em? fFAW9 CFTa| 83 WWEETE (@Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Chemistry Section A
Section Id : 864351267
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351267
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643513991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435111971. g

NO,
86435111972. &

86435111973.

CL,0
86435111974. =

Question Number : 31 Question Id : 8643513991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tesa wgafem s @b F@etals
Options :

N3
86435111971.

NO,
86435111972. -
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D"S
86435111973,

86435111974. L0

Question Number : 32 Question Id : 8643513992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

() Nyfg) + 3Hy(g) — 2NHa(g)

(D) Adsorption of CO(g) on lead surface.

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :
86435111975, ) (B) (©) and (D) only

86435111976, (A4) (€) and (E) only

86435111977, (A) and (E) only

86435111978, (0) and (©) only

Question Number : 32 Question Id : 8643513992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tesa (I i, GeGEE T 0 ?
(A) (°C -9 ToeF AT “Aaasa
(B) 10°C -« Tos qacF “Afaada
(C)  Ny(g) + 3H,(g) — 2NH,(g)
(D) S#® CO(g) <@ =iaremael
(E) =& NaCl «3 %39 2450

Teva sewalE @ Ahe TEan @re e
Options :

26435111975, X ek (S EE(D)

86435111976, S and (A), (C) &R (E)

86435111977, 244 (A) =% (E)

Ty o
86435111978, S (B) €% (C)

Question Number : 33 Question Id : 8643513993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power IS :
Options :
24
86435111979, B2

b
86435111980, \@

PO;
86435111981.

SO3
86435111982.
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Question Number : 33 Question Id : 8643513993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GG HF HTa- 9 T% Af@Tm TAC6a @ FAH CAPEAT WA AT A
Options :

BaZt
86435111979.

Nat
86435111980.

PO;
86435111981

507
86435111982.

Question Number : 34 Question Id : 8643513994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual relationship from those of the other sets is :
Options :

86435111983, Be - Al

86435111984, B~ Si

86435111985, i-Na

86435111986, -~ M8

Question Number : 34 Question Id : 8643513994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(A (T oG S (T T (ATF A
Options :

Be - Al
86435111983.
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B -5i
86435111984.

Li-NMNa
86435111985.

Li - Mg
86435111986.

Question Number : 35 Question Id : 8643513995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - Il
(a) Haematite () Al,O;xH,O
(b) Bauxite (i) Fe,O4
(c) Magnetite (iii) CuCO5;Cu(OH),
(d) Malachite (iv) Fe,O,

Choose the correct answer from the options given below :

Options :
86435111987 (@)-(1), (b)-(iii), (c)~(ii), (d)-(iv)

86435111988. (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)

86435111989, @-(1V), (b)-(1), (c)-(i), (d)-(iii)

s6435111000. @)-(0), (B)-(iii), ()-(0), (d)-Giv)

Question Number : 35 Question Id : 8643513995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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wifere - 1 @@ 7% wifere - 11 (T=8 -

SifeTe - I Sifers - 11
(a) TE=oTEh (i) ALO,;xH,0
(b) T3 (i) Fe,O,
(c) SMeITB26 (i) CuCO,-Cu(OH),
(d) oEEs (iv) FeyO,

s ome wrwafel (ATe Afos TEas @ M8 :
Options :
86435111987 @r(1), (b)-(iii), (c)-(ii), (d)-(iv)

s643511108g. @7 (@) (B)-(), (-iv), (d)-(iii)

26435111989, (@), (b)-(i), (c}-(1), (d)-(iii)

86435111990, @ (1)- (b)-(iid), (1), (d)}-(v)

Question Number : 36 Question Id : 8643513996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion

exchange resins, respectively, are :

Options :
SO,H and — NH,
86435111991, - .
86435111997, N and —COOH
NH, and —SO;H
86435111993. :
26435111994, ~ SO3H and —COOH

Question Number : 36 Question Id : 8643513996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FIGRW ¢ e [ @l wrmm-Rfem of @ s Eemeea O feam, e

TSR :
Options :

SO,H «d2 — NH,
86435111991.

NH, ¢@¢ — COOH
86435111992. &

NH, «d¢ —SO,H
86435111993, < :
86435111994, LS — OO

Question Number : 37 Question Id : 8643513997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the by-products formed during the recovery of NI—I3 from Solvay process is :
Options :

NH,C1

86435111995.

Ca(OH),
86435111996. e

86435111997, =3¢k

NaHCO
86435111998, -3

Question Number : 37 Question Id : 8643513997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS AF S (AT NH, JTFaad 7o oares (d Toene «mef (s 23 :
Options :

NH ,CI
86435111995,
86435111996, “a(OH),
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86435111997, <3¢k

NaHCO,
86435111998

Question Number : 38 Question Id : 8643513998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The set that represents the pair of neutral oxides of nitrogen is :

Options :

NO and N,O
86435111999. i

86435112000, 20 and NO,

86435112001, YO and NO,

N,O and N,O,
86435112002. -~ A

Question Number : 38 Question Id : 8643513998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(& TEE TGS b AN S (EE e 3

Options :

86435111999, Gt

N,O @@ NO,
86435112000, 2 2

NO «@2 NO,
86435112001. !

N,O €3¢ N,O,
86435112002, -

Question Number : 39 Question Id : 8643513999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
41/90



3/18/2021

The common positive oxidation states for an element with atomic number 24, are :

Options :
86435112003, 11t 16

86435112004, T2 to +6

86435112005, 1 and +3to +6

86435112006, ' 1 and +3

Question Number : 39 Question Id : 8643513999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

24 #EEs A B8 aG chea MaEd sad wnaE o= -

Options :
1 TS +6

86435112003,

L2 T +6
86435112004
86435112005, T 1 G +3 (T +6

b1 @32 +3
86435112006

Question Number : 40 Question Id : 8643514000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :
List - 1

(@)  [Co(NHy)g] [Cr(CN)g] (
(b)  [Co(NH;); (NO,),] (
(c)  [Cr(Hy0)4]Cls (
(d) cis-[CrCl,(ox),]° (

j

1

L

iii)

iv)

List - 11

Linkage isomerism
Solvate isomerism
Co-ordination isomerism

Optical isomerism

Choose the correct answer from the options given below :

Options :
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86435112007. (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)

86435112008, (@)-(d1), (b)-(1), (€)-(iii), (d)-(iv)
86435112009, @)-(iii), (b)-(1), (c)-(ii), (d)-(iv)

s6435112010. @r@v) (b)), (c)-(ii), (d)-(3)

Question Number : 40 Question Id : 8643514000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wiferat - 1 @@ 7% Sifert - 11 (o8 -

wiferat - 1 wiferat - 11
(@) [Co(NHz)g] [Cr(CN)g] (D) T WS
(b)  [Co(NH,); (NO,),] (i) @S FAEEaY
(c) [Cr(H,0)eCl; (i) sl (el FATEITS!
(d) cis -[CrCly(ox),] (iv) TS TRl

TS ATE AewaE (ArE HiiE TEdn fEna 39
Options :

86435112007. @)@, (B)-(i), (c){iii), (d)-(v)

86435112008, 2 ) (B)-(1), (c)-(iii), (d)-(iv)

26435112009, @), (D)), (0)-(ii), (d)-(iv)

86435112010, (@)-(v), (b)-(i), (c)-(ii), (d)-(1)

Question Number : 41 Question Id : 8643514001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth
Choose the most appropriate answer from the options given below :

Options :

86435112011, (A) only

86435112012, (B) and (D) only

86435112013, (©) only

86435112014, (D) only

Question Number : 41 Question Id : 8643514001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Teva @ f4gfs /Agfemg Tepiram Tt #fos 713 7
(A) WA wfeEe Faz[

(B) fEbrr=rsa wfefe Az

(C) &I o= i The

(D) TEAME ARATAEEA Se[ T Sed Jaid @4 Fa
s awE AewaE (ArE weerE adie Tea e 4

Options :

WYE (A
86435112011. )

wYE (B) @32 (D)
86435112012.

86435112013. ©

B (D)
86435112014
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Question Number : 42 Question Id : 8643514002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Nitrogen can be estimated by Kjeldahl's method for which of the following compound ?

Options :
86435112015. N
86435112016. CHy —NK;

CJ

e,
86435112017. N

i + ] —

86435112018,  N=NC

Question Number : 42 Question Id : 8643514002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Treva @ (T AT (AT *E TS TeeEa AAne fefy @ a2

Options :

NO,
86435112015
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86435112016. CHy —NK;
f,,..-"
e
86435112017.
N=N CI-
86435112018. T

Question Number : 43 Question Id : 8643514003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435112019, (A) only

86435112020, (B) only

86435112021, (A) and (C) only

86435112022, (B) and (C) only

Question Number : 43 Question Id : 8643514003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(A) AgCN/KCN
(B) RCOOAg/RCOOK
() AgNO,/KNO,
(D) Agl/KI
Options :

WYEE (A
86435112019. (4)

-g‘\:gﬂ'u
86435112020. )

W@ (A) 32 (C)
86435112021.

WYAE (B) @32 (C)
86435112022.

Question Number : 44 Question Id : 8643514004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  2-methylbutane on oxidation with KMnO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnO,.
Choose the correct option :

Options :
86435112023 Both statement I and statement 11 are correct

86435112024 Both statement | and statement 1l are incorrect
86435112025, Statement 1 is correct but statement 11 is incorrect

86435112026. Statement 1 is incorrect but statement 11 is correct

Question Number : 44 Question Id : 8643514004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fafe1:  KMnO, 3¢ 2-far RTiera wmae famm 2-fawfasa-2-vm Teom =
e 11: KMnO, @7 20 n-&aH (TPRZE Fels GIas $C1 SIEAcEEa (or $41 F3
wioe +Tew oo 74
Options :

faafe 1 @2 =e9fe 11 Tere s
86435112023, ° '

fagfe 1 was fagfe 11 T=rms =
86435112024, 1 fegfe L ToR

faqfs 1+17= fom fagfe 11 &=

86435112025.

86435112026, Ta1® 19 o e 11

Question Number : 45 Question Id : 8643514005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement regarding the formation of carbocations A and B given.

fTE
»> CH:.!_ = CH2 = CH2 e CHE + Br—
II'.I'A.'T

CH:;— (:HZ—'CH = CHE + HBr

+
> CHy— CH,—CH—CHj + Br ™~
di 'E3 i

Options :

R6435112027. Carbocation A is more stable and formed relatively at slow rate

86435112028. Carbocation B is more stable and formed reiafjvel}f al slow rate

26435112029. Carbocation A is more stable and formed relatively at faster rate

86435112030. Carbocation B is more stable and formed relatively at faster rate
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Question Number : 45 Question Id : 8643514005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

+

JJA‘J'
CH3;—CH,—CH=CH,+HBr
+
» CHy—CH;,—CH-CH;+Br™
II'I'B’J'

Teoffre A @32 B FIRAEIGRR 2 Ao fgfas fdsa a1
Options :
86435112027 FATENOE A T4Feq HES a2 SCFFFe 814 sfers tod =0

86435112028, IO B Sfewed e «ae wcermge ¥ fers tefd 2

86435112009, FCANORA A S4Fea JFe a2 WErwFs F 7 tof =

86435112030, T FIoR B Sfeaed HTe 932 WP we 3d Ted 78

Question Number : 46 Question Id : 8643514006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CraHpO1y +HyO —22ME2 5 CoHy»06 +CeH1204
Sucrose Glucose Fructose
CgH,,0, —22me 3 , 5C,H-OH+2CO,
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435112031, nvertase and Zymase

86435112032, Zymase and Invertase

86435112033, nvertase and Amylase
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86435112034. Amylase and Invertase

Question Number : 46 Question Id : 8643514006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

»
C2H2047 +HO = CeH1206 +CeH1204
T I
*
CoHis0;— T8, or HLOH+ 2005

Tofraa fRfEarns, The A @32 TEOBS B IS ¢
Options :
86435112031, ZTTODT A LT

GIEH @2 TS0
86435112032.

86435112033, 2TODT L SIRIRTTS

86435112034, THIRETS R TS

Question Number : 47 Question Id : 8643514007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OCH,

(A)

In the above reaction, the structural formula of (A), “X" and “Y" respectively are :

Options :
N; OCH,

H H
H’ D H
86435112035, Cl
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N, OCH,

W
» CH3—C-H, H,0

86435112036 Cl
N5 Cl-
Ii :}{
OCHj,
86435112037, g
N, Cl-
T
© CH3-C-H , HC
YCH
86435112038. OCH,

Question Number : 47 Question Id : 8643514007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OCH,

C;H;N,0Cl + CH;0H ——> + Np+"X" +"Y”
(A)
Berram fafamma, (A), “X7 @@ 1Y” G NS HIFS T4

Options :
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H ¢
86435112035, Cl
N; OCH,
T
W
86435112036. Cl
N, Cl-
H
HED
£ H D H ¥
OCH 4
86435112037,
Ny ¢l
? HCl
»  CH3—C-H,
OCH 4
86435112038,

Question Number : 48 Question Id : 8643514008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435112039, Chloroform and KOH

86435112040. Benzene sulphonic acid
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86435112041 para-Toluene sulphonyl chloride

86435112042, Acetyl amide

Question Number : 48 Question Id : 8643514008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

12, o «a2 gorms S (TrH2cs 0w AR 4T 41 T4 ;
Options :

86435112039. ikl

86435112040, GG IATHIE HG

86435112041, TTA-DRA SEHICTA GFRAIZE

WW v - - ] m 1 -
86435112042.

Question Number : 49 Question Id : 8643514009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - IL

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (ii)  Artificial sweetener
(c) Sodium benzoate (i) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435112043, @)-(), (b)-(ii), (c)-(iv), (d)-(ii)

86435112044. (a)-(i1), (b)-(i), (c)-(iv), (d)-(iii)

53/90



3/18/2021

86435112045.

86435112046.

Question Number : 49 Question Id : 8643514009 Question Type : MCQ Option Shuffling : Yes Is

(@)-(iv), (b)-(i11), (c)-(ii), (d)-(i)

(@)-(i1), (b)-(i), (c)-(iv), (d)-(i)

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifersl - 1 @@ T wiferst - 11 cems
SifeTa - 1
st s
(a) TFEFICETE 0
(b) Toaias wmbies farfas «o™ (i)
(c) oI @TgEn i
(d) LTI v
‘ﬂﬁ_‘ﬁ ﬁc_"f (AT 'S :
Options :
86435112043, OF @) ©)-(1), (-(iv), (d)-(111)
86435112044 (a)-(if), (b)-(3), (c)-(iv), (d)-(ii)
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
86435112045,
26435112046, @r i), (b)-(ii), ()-(iv), (d)-(3)

Question Number : 50 Question Id : 8643514010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :

Options :

86435112047.

86435112048.

Aldohexose

Ketohexose

wifera! - 11
FEE 7
ArHES Toaes

] FTER]
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86435112049, I'yranose

86435112050, 1cptose

Question Number : 50 Question Id : 8643514010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T3S T4 ©I2A9
Options :
86435112047. i
86435112048. FUOTCRLHTE
oS
86435112049. '
(ZLBTE

86435112050.

Chemistry Section B
Section Id : 864351268
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351268
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643514011 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The number of chlorine atoms in 20 mL of chlorine gas at STP is 10!, (Round off
to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K~1, N, =6.023 x 10%%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643514011 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

STP ¢ 20 mL G ST @1 “@Te@ ALm 102! | (Frbew #jefxeam)
(473 & STP (T @Iam aTih Sl s
R=0.083 L bar mol ! K~1, N, =6.023 x 102]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643514012 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 5 mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

[Atomic Mass : K : 39.1u, Br: 799 u
N , =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 52 Question Id : 8643514012 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr (103 10 ~ (1@ SrBr, (U9 4124 | 1 g KBr (I SO« Sagea A2 10M |
(Terelem #jefrieam)

[#raefas &9 : K :39.1u Br:799 u

N , =6.023 x 1023

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514013 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%1071 BM. (Round off to the Nearest Integer).

[Given : 3 =1.73, 2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643514013 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e R Fe(Z =26) - @ FFIR AT __x10"1BM| (Frbex sebizam)

[CREA TR : 3 =173, V2 = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 54 Question Id : 8643514014 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A T molal K Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.

The molar mass of A is __u. (Round off to the Nearest Integer).
[Density of water = 1.0 g cm™ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643514014 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@3fb 1 e K, Fe(CN), ¥acera earss wra 0.4 1 97 “Foa% & @Ff6 18.1 9 W@ oS
BT W A -7 FATHE GHAED T | A -« (T T ul (Frbem sfAzam)

[E7 51 = 1.0 g cm ™~ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643514015 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction N5Oy(g) == 2NO,(g)- The temperature at which K(_ =204 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K~ ! mol ']

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643514015 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

N,Oy(g) == 2NO, (g) & [Frasm #a1 @ wremras Rfemta K. =204 @32 K,=600.1,
T2 SEah 24 K| (F=ebem #efe=m)

[40a T8, g e s @32 R=0.0831 L bar K~ mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643514016 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A KCI solution of conductivity 0.14 S m ! shows a resistance of 4.19 () in a conductivity cell.
If the same cell is filled with an HCl solution, the resistance drops to 1.03 {). The conductivity
of the HCI solution is %x1072S m~ L. (Round off to the Nearest Integer).
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643514016 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

aFH “fFaZe @FE 0.14 S m~ ! #fF@Ze 5@ ¢FH KCl 73 4,19 Q @9 o7t F0a | % «F2

wfeeraEB HCl wate «of Fa1 27, @0aa I g5 ¢ed 1.03 @ =1 HCl 73eem +Afaaize
x102S m~1| (freben #jefigam)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643514017 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A + B, — 2AB is an elementary reaction.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest
Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643514017 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2A +B, — 2AB ¢35 anafis fafem |
I s Wfne «fame Gemrea = FfEm o wrmea 3 a4 g «m, e om &9
Iz o | (oo 7jfeam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643514018 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted

in the formation of product A. The secondary valency of Fe in the product A is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643514018 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KOH fiffre &&ia watd FeCl, @@ 0 Sl wmihnes e Seom wa A 0o 20 | A Tesm wid

Fe -&@ (M9 (@&mel (Frabem #jefieam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514019 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C H;O) is __
to the Nearest Integer).

(Round off

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643514019 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SR ek NaOH @@ R caivibiees smize (C H,,0) Tevm =0 | @bibEa smizee C-C

5 10
ismn Ialg GG WeAm (Frrebem #jefAeam)
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 60 Question Id : 8643514020 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0
| 0
C
e = CH ) H o
+ (_.ﬁHENHC.ﬁH:—J e LE}I IE—L— [\.—{{__,61 15}2
0.140 g 0.388 g 0210¢g

Consider the above reaction. The percentage yield of amide product is (Round

off to the Nearest Integer).
(Given : Atomic mass : C:120u, H: 1.0u, N:14.0 u, O:16.0 u, Cl : 355 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643514020 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0
| 0
C
~l
0.140 g 0388 g 0210¢

THraa arataS fAteas s 991 fafaam Seom w7 SEred feea Sesmm
(ferebremt #jefsie=m)
[Eﬁ'ﬁﬂ'iﬂ'@:wﬁﬁﬂ:f:llﬂu,H:l.Uu,N:H.Du,D:lﬁ.[]u,CI:SE.Su]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351269
5

Online
Mandatory
20

20

80

Yes

1
864351269
Yes

Question Number : 61 Question Id : 8643514021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. A . e 1 o 2 i
The number of solutions of the equation sin 1[12 I ;} F cos 1[12 E] = IZ, for

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is :

Options :

86435112061, Y
2
86435112062, <

86435112063, *

86435112064, nfinite

Question Number : 61 Question Id : 8643514021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S 1 e 7 2
97 [x] T IT/H MUY  S(AFF | GILT  sin 1[12 | 5] b cos l[r ;] = 2,

xe[ -1, 1], ATFAGT FT I 30T, 7

Options :
86435112061, Y
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86435112062, 2

86435112063, *

947

86435112064, 71¢

Question Number : 62 Question Id : 8643514022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[f the Boolean expression (paq)®(p=q) is a tautology, then ® and @ are respectively given by :
Options :

86435112065. " Y

86435112066, 7

86435112067. "

86435112068. "

Question Number : 62 Question Id : 8643514022 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% (paq)@(peq) 9FI0 DOCETITST 24, B @ 998 o TATF :
Options :

86435112065, ~ 995 v

86435112066, ¥ 995 — 2@

86435112067, — 9% — 204

86435112068, " 99T — A4

Question Number : 63 Question Id : 8643514023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

64/90



3/18/2021

— M A A — A A A
Let O be the origin. Let OP =xi + yj kand OQ=—-1i + 2j + 3xk,x,yeR, x>0, be

= g = e
such that |[PQ| = ¥20 and the vector OP is perpendicular to OQ. If OR =3i + zj — 7k,

— =
z € R, is coplanar with OP and OQ, then the value of x2+ 2 + z% is equal to :
Options :

86435112069.

86435112070.

|

86435112071.

86435112072, ¢

Question Number : 63 Question Id : 8643514023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_} A M A A Fa Y
9 O 36 YAy | SNE38 T FT OP =xi +yj — k 992 OQ =—i + 2 + 3xk, x, ye R,

x >0, (ST AT~Ed 39T 7 IS P(_j‘ =201 3% OR =3i + zj — 7k, z¢ R (330

= h 8
OP 932 OQ (SFARMHA ANY IWETeTd 5, SR 22 +y2+22 99 T 34
Options :

86435112069.

86435112070.

|

86435112071.

86435112072, 2

Question Number : 64 Question Id : 8643514024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 4.2

x
of the matrix |4 5,2 y is zero, then the value of k? is :
2 de &
Options :
86435112073, ©
86435112074, 12
86435112075 20

86435112076, /2

Question Number : 64 Question Id : 8643514024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 442 x

A% x, y, z AT AIRSTHF AHFT W d =W, @A x #3d 992 |4 52
5 k

yiifGeoa e

=

2

T =0 orEE k? @9 T 39
Options :
86435112073, ©
86435112074, ~ <

86435112075. ©

86435112076. /2

Question Number : 65 Question Id : 8643514025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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tan(w L‘nr-,zﬂ]

The value of the limit lim

- : is equal to :
8—=0 sin (27 sin~0)

Options :

1
86435112077. 4
1
)
86435112078, 2
1
86435112079. 4
0
86435112080,

Question Number : 65 Question Id : 8643514025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sz Tl
11111 tL311{Tr cos G] %ﬁ_ﬁ-ﬁ):a T -

0—=0 sin (2w hil‘lzﬂ]
Options :

1
86435112077. 4

1
Bl
86435112078, 2
1
86435112079. 4
0
86435112080,

Question Number : 66 Question Id : 8643514026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1

1{]'[ . ; s
; sin 27 x| Al X
[f the integral j dx =ae 1+ Be 2 ++v,where «, [3, v are integers and [x] denotes

o B
the greatest integer less than or equal to x, then the value of a+ 3 + v is equal to :
Options :

86435112081. 0

86435112082, 10

86435112083, 20

86435112084. 25

Question Number : 66 Question Id : 8643514026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1

1'[][ . i Fl
sin 2wx]|

x—[x]dx — e 14 Be 2+, TTYNAT a, B, v
0 e

QYT SJfA YT B S a+ B+ y QT TIF 34 :
Options :

49 [x] 25 92ET UYG AT | IR

86435112081. 0

86435112082, 10

86435112083, 20

86435112084. 25

Question Number : 67 Question Id : 8643514027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve y=y(x) is the solution of the differential equation

' 5/ 1/ 9/
2(x” 4 x4)dy —y(x + x*)dr= Zv*dx, x > 0 which passes through the point

' 4
(L 1 3 loge 2] , then the value of y(16) is equal to:

X
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Options :

4(3—1 % log, 31

86435112085.
31 8
(T == If}g‘__,ql
86435112086.
(% I EL:J»gﬁ?ﬂ
86435112087. “ ° : %

86435112088.

Question Number : 67 Question Id : 8643514027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

af 22 + A)dy - y(x + ¥A)dx = 2% dx | x > 0, o AMFTTA (1, 1 élﬂgﬁﬂ
\ b A

s Q6 ST y=y(x) 20 9203 y(16) 9T T 23

Options :

4(% %Iogﬁﬂ
86435112085, ' 4

(3

f% 2 log3)
86435112086. =

(% I Elf}gﬁﬂ
86435112087. “ ° ; %

86435112088.

Question Number : 68 Question Id : 8643514028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation

cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x = :, y(0)=0. Then, y(%w is
3/
equal to:

Options :

2log, £—3\E4 81
J

86435112089.

EIogE[“E b7

86435112090. &

(]
g _/

2 log, [—Eﬁ l 91
' b J

86435112091.

EIogE{EJE |1ﬂ)

86435112092. ¢ AR

Question Number : 68 Question Id : 8643514028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% cosx(3sinx + cosx + 3) dy=(1+y sinx(3sinx +cosx + 3))dx, 0 =x % y(0)=0 JTFT

TR AT ST y =y (x) =0 T2 (% QF T A :

Options :
2log, £—3‘E SW
86435112089, =

3+7

2log, [
86435112090. *

2 log, {—E‘E ! 91
_ 4] /

]
o -

86435112091.
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zmge{zﬁ | 1{1}

86435112092. ¢ A 4

Question Number : 69 Question Id : 8643514029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. . f W
|2—sin| =] |xl,x 20

Consider the function f: R — R defined by f(x) = {[ qm'\x]; B . Then fis:
| 0 , x=0

Options :
86435112093, monotonic on (0, =) only

monotonic on ( — =, () only
86435112094. 2

86435112095. monotonic on (— =, 0) U (0, =)

not monotonic on (— =, 0) and (0, =)
86435112096.

Question Number : 69 Question Id : 8643514029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

49 f: R — R SIMSH0 YA o49a :

f(x) = ;(2 si_n(lﬂ lxl,x= 0

X/
| 0 , x=0

B A6 @ [aFais Afes 7

Options :
86435112003, [ TCTFITC I (0, =) ST CF72

26435112004, | FCTHIT I (— o0, 0) SRSANT GF73

86435112095, J STCTHS G (—o,0)u (0, ) (& 9573
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86435112096, 1 ¢ G (o, 0), (0, =)@ 9FHE 7|

Question Number : 70 Question Id : 8643514030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The value of
[r] + [2r] + ... + [n1]

lim 3 ;
n—seox 1

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :
Options :
86435112097, '
T

86435112098, 2

86435112099, 2T

86435112100. 0

Question Number : 70 Question Id : 8643514030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g9 [r] F2E9 TS TCAEFESF 1% r GG TR qFEG AT T EElH
[r] + [2r] + -—— + [nr1]

lim 3
T — 00 1

GF T 9 :
Options :

86435112097, ©

.I"
86435112098, 2

86435112099, 2T
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86435112100. 0

Question Number : 71 Question Id : 8643514031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Leta computer program generate 0111}-' the digits Dand 1 to form a string of hf_t‘lar}-' numbers

with probability of occurrence of 0 at even places be 5 and probability of occurrence of 0 at

1
the odd place be 3 Then the probability that ‘10’ is followed by ‘01" is equal to :

Options :
1
86435112101.

o=

86435112102.

R

86435112103.

86435112104, 18

Question Number : 71 Question Id : 8643514031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4 P AR BL,2 5157 F1F Sy Q0 F0E A SYATa 0 992 1 &F | I g 0

1 1
(ICRIE R ER 3 2 QL T T 0 3T JEH 3 T4 OIEE ‘01" 99 219 “10° ST F8iE-

Options :

o=

86435112101.

o=

86435112102.
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1
86435112103.

i |
86435112104, 18

Question Number : 72 Question Id : 8643514032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

equal to:
Options :
86435112105, 360

86435112106. 564

86435112107. 333

86435112108. 2

Question Number : 72 Question Id : 8643514032 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AABC faprs@ TR 9rel AB, BC, CA 9d @943 IAr@w 3 5, 5 T was 6 6 [y awa
=z 9 Rryesfacs fagrem Ty BorE a9ma R mib fags i F=1 3

Options :

86435112105, 260

86435112106. 564

86435112107. 333

86435112108. 218
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Question Number : 73 Question Id : 8643514033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the tangent to the circle x%+y?>=25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then 2 is equal to :

Options :
125
86435112109, /2

625

86435112110.

/

529
86435112111, 4
‘585

86435112112, 0O

Question Number : 73 Question Id : 8643514033 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x2 +y?=25 J3MHA @91 R(3, 4) o SIfES =orfF x SF 3 y S I P 93¢ Q [qre T
F@| AW TFEH O SN (7% T3 (@FE AOPQ fagrem Sqraa 391d Jicg, (%, Jafva TIPS r
2y, BEE r2 9 I19 59

Options :

125
86435112109, /2

625

72
86435112110,

'529
86435112111, °*
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'585
86435112112, °°

Question Number : 74 Question Id : 8643514034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LetS,, 5; and 5, be three sets defined as

S, = {zeC: z-1| =2}
S, = {zeC:Re((1-1)z)=1}
S; = {ze C:Im(z) = 1}

Then the set S, M S, M 54

Options :

86435112113, 1as exactly two elements

86435112114 has exac L[}-' three elements

86435112115, 18 @ singleton

86435112116, has infinitely many elements

Question Number : 74 Question Id : 8643514034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A S,, S, WA S, f5alt &6 aws ey
S; ={zeC:[z-1 _\E}
S, = {zeC:Re((1-1)2)=1}
S; = {ze C:Im(z) = 1}
BEET S, NS, N S, CTHIHS :
Options :

86435112113, e < W ez

86435112114, I ©f5 % ST
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86435112115, @I S5 77 WM

E[A$= i
86435112116. THUAE SR

Question Number : 75 Question Id : 8643514035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e~*sinx. If F : [0, 1] — R is a differentiable function such

. 5 ' 1 .
that F(x) = j f(t) dt, then the value of jﬂ(F'(X]I b f(x))e*dx lies in the interval
0

Options :
[ﬂ o]
86435112117. 360" 360
'[32? E}
86435112118. R
[E E]
86435112119. 360" 360
[E ﬁ}
360" 360

86435112120.

Question Number : 75 Question Id : 8643514035 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4% f: R — R FAUHTs! FSWIRS : f(x)=e “sinx | T% F: [0, 1] — R <FD SWIFTSUIISN SCAHF

¥ 1 ;
qIEE AT F(x) = j f(t) dt =¥, TI=A L (F'(x)+ f(x))e*dx @7 77 HHT &7 =10
]

ATHT 7
Options :

o
86435112117. 360" 360

77/90



3/18/2021

[32? 3291
86435112118, ~00 300

[331 334]

86435112119, -200 360,

[335 336}

86435112120, L300 360

Question Number : 76 Question Id : 8643514036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6 :
Thevalueof Y (°C, - °Ce + | isequal to:
r= 0

Options :

86435112121, 224

86435112122, 1024

2,
86435112123. i

86435112124, 1324

Question Number : 76 Question Id : 8643514036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6
Y PG -%Cs . ) TR
r= 0

Options :

86435112121, 924

86435112122, 1024
1124

86435112123.
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86435112124, 1324

Question Number : 77 Question Id : 8643514037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

L. -3 awd o ) x-2 =g ..o+l .
= = and containing the Iline = = is

.x |
2 1 1

line

ax + By +yz=24, then a+ + vy is equal to :
Options :

86435112125, 21

86435112126, 2V

86435112127, 19

86435112128. 13

Question Number : 77 Question Id : 8643514037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=2 1 z+1
ﬂﬁuxl[ﬁylwz=24ﬁ?ﬂﬂﬁﬁﬁﬂﬁ}lﬁqﬂmﬁﬁlq = 2y= : MG IR

x+1 y—3 z+2
S A 99 A —— = fl = == TG MTE (2, 3, 1) Ry afsfend,
OEE a+ B +y Q9 T1F9 39 :
Options :
86435112125, 21

86435112126, 2V

86435112127, 19

86435112128. 18
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Question Number : 78 Question Id : 8643514038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle 12 yz 2x — 4y +4=0, such that the

T o U
angle between these tangents is lan 1(?1 , where tan 1(15—21 € (0, 7). If the centre of the
/ /

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of APAB and ACAB is :
Options :

86435112129, 9 4

86435112130,
86435112131, 2° 1
86435112132, 114

Question Number : 78 Question Id : 8643514038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

P 9 230 22+ 92— 2x — 4y +4 =0 J0ET 31T J3I5 ~o1F Gl 5671 9% J36 o+ Fa St ol
FITeE “ifamrsr za1 tan_l(%], T m‘l(%h(nmjl gfw C 796 Jeiva @uay =9

s

Qe =orfEAG FS00P A 992 B Fre =oif 374, ©1=ieT APAB W92 ACAB fag® 4ibd cFawierd
QFB T TG T
Options :

86435112129, 7+ 4

86435112130.

86435112131, 2° 1
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86435112132, 1114

Question Number : 79 Question Id : 8643514039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2tanx = ? in the interval [0, 27] is :

Options :

(=]

86435112133,
86435112134.
86435112135, 4

86435112136.

Question Number : 79 Question Id : 8643514039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[0, 2+] SHEAET TAFS x + 2 tanx = — ANHAMTHT T FUT

G
Options :

(=]

86435112133,
86435112134
86435112135, 4

86435112136.

Question Number : 80 Question Id : 8643514040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y?>=4x — 20 at (6, 2). If L is also a tangent to the ellipse

. 2
= -I s

AT P = 1, then the value of b is equal to :
“ i)
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Options :

86435112137, 11

86435112138, 14

86435112139. .

86435112140. 20

Question Number : 80 Question Id : 8643514040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

25 o2

49 (6, 2) F9To y?=4x— 20 @7 =i =7 L1 T L @ifp “‘T|‘J’l—=1@m\3.awﬁm
I 8

SETE b @7 T 504 -

Options :

86435112137, 11

86435112138, 14

86435112139. o

20

86435112140.
Mathematics Section B

Section Id : 864351270
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351270
Question Shuffling Allowed : Yes
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Question Number : 81 Question Id : 8643514041 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. e

Let I, = j ¥ (log/x)" dx, where n e N. If (20)I,=alg+ plg, for natural numbers « and £,
1

then « — ( equals to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643514041 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. ; |
S| I, = j x (log/lx)" dx, (TAMTAn e N T (20)[p=alg+PLg 2T, (TIMTa @32 B 7
1

TrelfEE AN, ©EE a—p 97 TH |

FaY
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643514042 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(2n—1)

Let tana, tanp and tany ; o, B, v # T ne N be the slopes of three line segments OA,

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

. &
L ’ : 3 e
and its orthocentre lies on y-axis, then the value of [ cos3a + cos P + cos Iy

".

is equal to
COS o COS 3 cos vy )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643514042 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

47 O 367 o114 932 tana, tanf and tany ; a, B, y = @ n ¢ N T OA, OB 9F2 OC

AT 2061 T AABC 9T #THFH Tei9Y 37 998 T/RY y-SI0FT 399 SaiFs 34

ST [cos 3o + cos 38 4 cosfhf 9F T =@ |
L COS o COS 5 COs ),

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514043 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 1, log,y(4*—2) and Ingm(-—ix I IS—BW are in arithmetic progression for a real number x, then
: J

211‘—1‘11‘

the value of the determinant is equal to:

]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643514043 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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T 1, logo(4* —2) €3e Iogm(%lx | l—ﬁ S Aoifiste ANF, @A x QFG IFT FLAT, SECEA
rF

.2(1'

[

W xr—1 =x
/

1 0

x 1

P2 | =

IGRIEAER GG

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514044 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first Zn numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the

variance of the new set is k, then 9k is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643514044 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3n ALY FALYNT QFG ONGT (GWNIH 4 | G5 GTOT0d AT 2n ALUTE TV 51T 6 QIS TIBT
n AR TLYTT 5TG 3 | AAT 2n ALY YT Y 1 (st AT @2 TP n AT AU 2306
1 facarst s a0 o7 G5 slad F41 3671 T Q% Tpa GT60d (GvTe k 34, BIEee 9k O 0q
L1C] |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 85 Question Id : 8643514045 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [~ 1, 1] = R be defined as f(x) =ax®+bx + ¢ for all x ¢[ -1, 1], where a, b, ¢ € R such

1
that f(—1)=2, f(—1)=1 and for x € (—1, 1) the maximum value of f"(x) is 3 If f(x) = «,

x € [—1, 1], then the least value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643514045 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g4 f: | l,l]%[wi@(mﬂﬁﬁﬁf{x]=alehxlcfnraﬂxe[ 1,1], @H a, b, c ¢ R IWBINH

P $9F o A f(—1)=2, f(—1)=1 432 f'(x) 9T (-1, 1]%%%@% taj 1ot
f(x) = o xe[—1, 1] T OEE o 99 ALY 719 3@ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643514046 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
Let the coefficients of third, fourth and fifth terms in the expansion of {1 I i.,w ,x#0, be
: Xt

in the ratio 12: 8: 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643514046 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S i
Ef‘g’(xl iﬂ , x 2 0, AFTHE o, 5o 932 1%y mafed Tzeafe 12 : 8 : 3 TFITE 9T
\ x=J
a‘"
W{Il—2| a7 fforo x afsio Jma stz

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514047 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

[ min {[1‘ I E%],:::E}, 3=x=0
f(x) =4 '

t:na;; {«f; xz}, O=x=1.

If the area bounded by y=f(x) and x-axis is A, then the value of 6A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643514047 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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99 f: [~3, 1] — R SIS0 Huacst a%s

f(x) jmin {[;r | 6_‘1,51'2}, 3=x=0
Xh=
| max {v’x;xz}, U=sx=1

T y=flx) 99 x- SFF BT AEE S ST (FaF= A 70, BIF0E 6A GF TH 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514048 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P be an arbitrary point having sum of the squares of the distances from the planes

x+y+z=0,lx—nz=0 and x— 2y +z=0, equal to 9. If the locus of the point P is

x2 yz t z2=0, then the value of I —n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643514048 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WPﬂWﬂﬁﬁ’jWﬁM@xlylz=ﬂ,?x nz=0 x 2y|z=03114@¢1r@=1mﬂ AU s
st 38 91 Tfn P fayd ey 30 22 +y?+22=9 Ol [ - n 9 TI9 (T _ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514049 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0
— -

Al e e ; — M A A
Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j-k. If the

_ [ A A

v M — .. -
vector x is perpendicular to |3i+2j—k/| and its projectionon a is 176 , then the value of
2
2
‘_}‘ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643514049 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

47 x (SB A OF% ol 8o SR T @47 a=21 ;|A Qe E=?|2'}' k ©37 9fG

wafs | 1 x S (374 2}' ;?] T G T W TS ¢ 9T a 9T ST SIRSTwO 176
2

S mz 9T T T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643514050 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| a 1 ' ] [0
Let A = [a ;} and B= [;] ,—;[U} such that AB=B and a + d = 2021, then the value of ad — bc
CoQ

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643514050 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

c Bl7]0
oiEEd ad—-bc I I 5T I

a b ' 0
HT A = { 1] g2 B= [&}i{ ] A 54;5 3 WY Iﬁl g &% AB=B 92 a+d=2021 34|
.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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